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1z ®k ®L¡eJ cn¢V fË­nÀl Ešl c¡J x (10^2) 

 L) Q¡¢qc¡ p§­œl c¤'¢V hÉ¢aœ²j E­ÒmM Llz 

 M) Q¡¢qc¡l f¡lØf¢lL ¢ÙÛ¢aÙÛ¡fLa¡l pw‘¡ c¡Jz 

 N) "¢el­fra¡ ®lM¡'-l pw‘¡ c¡Jz 

 O) "¢el­fra¡ ®lM¡'-l Q¡l¢V °h¢nøÉ ®mMz 

 P) Evf¡c­el f¢l­fË¢r­a üÒfL¡m J c£OÑL¡­ml j­dÉ f¡bÑLÉ ¢L? 

 Q) Evf¡c­el ¢ÙÛl hÉu J f¢lhaÑen£m hÉ­ul f¡bÑLÉ Llz 

 R) f§eÑ¡‰ fË¢a­k¡¢Na¡l Q¡l¢V °h¢nøÉ E­ÒmM Llz 

 S) "A¡d¡-M¡Se¡' L¡­L h­m? 

 T) HL­Q¢Vu¡ L¡lh¡l Eá­hl c¤'¢V L¡lZ E­ÒmM Llz 

 U) ®k¡N¡e ®lM¡ hl¡hl Nje, Hhw ®k¡N¡e ®lM¡l ÙÛ¡e¡¿¹l -Hl j­dÉ f¡bÑLÉ ¢L? 

 V) A¡u fËi¡h hm­a ¢L ®h¡T? 

 W) œ²jqË¡pj¡e fË¡¢¿¹L Evf¡ce ¢h¢d¢V ¢hhªa Llz 

 X) p¤­k¡N hÉu L¡­L h­m? 

 Y) c¡j-fªbN£LlZ hm­a a¥¢j ¢L ®h¡T? 

 Z) Ae¤¢ja m¡i hm­a ¢L ®h¡T? 

2z ®k ®L¡eJ ¢ae¢V fË­nÀl Ešl c¡J x (3^5) 

 L) Q¡¢qc¡ ®lM¡ hl¡hl N¢a Hhw Q¡¢qc¡ ®lM¡l ÙÛ¡e¡¿¹­ll j­dÉ f¡bÑLÉ Llz (5) 

 M) ®lM¡¢Q­œl p¡q¡­kÉ Evf¡c­Ll i¡lp¡jÉ hÉ¡MÉ¡ Llz (5) 

 N) j¤e¡g¡a­šÅ Eàªš j§­mÉl d¡lZ¡ hÉ¡MÉ¡ Llz (5) 

 O) ""¢el­fra¡ ®lM¡l¡ flØfl­L ®Rc Ll­a f¡­le¡z'' –a¥¢j a¡ j­e Ll? ®Le? (2+3) 

 P) nË¢jL pwNW­el L¡kÑfÜ¢a A¡­m¡Qe¡ Llz (5)  

 Q) HL­Q¢Vu¡ h¡S¡­l ®k¡N¡e ®lM¡ f¡Ju¡ k¡u ¢L? hÉ¡MÉ¡ Llz (5) 

3z ®k ®L¡e Q¡l¢V fË­nÀl Ešl c¡J x (4^10) 

 L) ®lM¡¢Q­œl pq¡ua¡u üÒfL¡­ml f¢l­fË¢r­a Evf¡c­el ¢ae¢V fkÑÉ¡u -Hl 

  hÉ¡MÉ¡ Llz (10) 

 M) c¡j fËi¡h­L A¡ufËi¡h J f¢lhaÑ fËi¡­h ¢hiš² Ll¡l fË¢œ²u¡ ®lM¡¢Q­œl  

  p¡q¡­kÉ ®cM¡Jz H ¢hou ¢qLÚpÚ Hhw pÔ¡VÚ¢ú-l fÜ¢al j­dÉ j§m f¡bÑLÉ ¢L? (6+4)  

 N) f§ZÑ fË¢a­k¡¢Na¡j¤mL h¡S¡­l L¡­kÑl üÒfL¡m£e i¡lp¡jÉ ¢Li¡­h ¢el§¢fa qu, 

  hÉ¡MÉ¡ Llz HC f¢l¢ÙÛ¢a­a g¡jÑ ®m¡Lp¡e Ll­m ¢L O­V, A¡­m¡Qe¡ Llz (8+2) 

 O) HL­Q¢Vu¡ h¡S¡­l üÒfL¡m£e i¡lp¡­jÉl d¡lZ¡¢V hÉ¡MÉ¡ Llz HL­Q¢Vu¡ 

  L¡lh¡l£ ¢L phÑc¡ a¡l Evf¡¢ca â­hÉl HL¢V ¢e¢cÑø c¡jC ¢edÑ¡lZ L­l? (6+4) 

 P) j¤e¡g¡ Eá­hl ¢h¢iæ L¡lZ hÉ¡MÉ¡ Ll –HN¤¢ml ®L¡eÚ¢V ®a¡j¡l L¡­R NËqZ­k¡NÉ? (10) 

 Q) ¢el­fr ®lM¡l a­šÅl p¡q¡­kÉ ®i¡NL¡l£l i¡lp¡jÉl d¡lZ¡¢V hÉ¡MÉ¡ Llz (10) 

 R) i) üÒfL¡m£e Ns ¢ÙÛl ®lM¡l A¡L«¢a ®Lje qu? 

  ii) ®cM¡J ®k c£OÑL¡m£e Ns hÉu ®lM¡ üÒfL¡m£e Ns hÉu ®lM¡N¤¢ml ®j¡sLz (3+7) 

 S) ¢lL¡­XÑ¡l M¡Se¡ ašÅ¢V A¡­m¡Qe¡ Llz HC a­šÅl p£j¡hÜa¡N¤¢m ¢L? (10) 

  

 



English Version 

 

1. Answer any ten questions : (10^2) 

 a) Mention two exceptions to the Law of Demand. 

 b) Define cross price elasticity of demand. 

 c) Define indifference curve. 

 d) Write four properties of indifference Curve. 

 e) Distinguish between short-run and long-run in production. 

 f) Distinguish between fixed and variable costs of production. 

 g) Mention four features of perfect competition. 

 h) Define Quasi-rent. 

 i) Write two causes for emergence of monopoly. 

 j) What is the difference between movement along a supply curve, and movement of a supply curve? 

 k) What is income effect? 

 l) State the law of diminishing marginal productivity. 

 m) What is opportunity Cost? 

 n) What do you mean by price discrimination? 

 o) What is anticipated profit? 

2. Answer any three questions : (3^5) 

 a) Distinguish between movement along a demand curve and shift of a demand curve. (5) 

 b) Explain diagrammatically the concept of produces' equilibrium. (5) 

 c) Explain the concept of surplus value in Theory of Profit. (5) 

 d) ''Two indifference curves can not cut each other''. Do you agree? Why? (2+3) 

 e) What is the role of a Trade Union? (5) 

 f) Do we have any Supply curve under monopolistic market? Explain. (5) 

3. Answer any four questions : (4^10) 

 a) Explain diagrammatrically the idea of 'three stages' of production. (in the context of short run). (10) 

 b) Explain with the help of a diagram how price effect can be decomposed in income and 

  substitution effects. In this respect, what is the basic difference between Hicks and Slutsky? (6+4) 

 c) Discuss low a firm in a perfectly competitive market reaches equilibrium in short run. 

  What happens when the concerned firm incurs loss in the short-run? (8+2) 

 d) Explain the process of attainment of short-run equilibrium in a monopolistic market. Does 

  the monopolist always set a single price for his product? Explain. (6+4) 

 e) Discuss the various explanations for emergence of profit. Which one of it do you subscribe? (10) 

 f) Explain how an individual consumer reaches equilibrium under indifference curve approach. (10) 

 g) i) How does the short-run average fixed cost curve look like? 

  ii) Show that the long-run average cost curve is the 'envelope' of all the short-run average 

  cost curves. (3+7) 

 h) Explain the Ricardian Theory of Rent with it's limitations. (10) 
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